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The paper in this book No. F370A

is made of 509 high grade rag stock

with a WATER RESISTING surface sizino.
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TRIGONOMETRIC FORMULAE

/lA/]

Right 'l'rumgle — Obllque Tnangles
Solution of Right Triangles

. a b a o
r Angle A. sin = —,cos= -, lan= 3 1 oot = — ,sec = 7, cosec =

Given Required
a b A B tanA=%=colBa=\/a’-{'-_r=a\/l+

a6 |ABb| sind=%=cosB, b= V—T‘Tc+aa —c\/l—

Ao |Boec| B=90°—4,6=acod,c=
smA.

b

=00°— & Btas e A
A b |Ba c| B=90C—A4,a=D)tand,c =
A, e B oa b B=90°—A,a =csinA,b=0cos A,
Solution of Oblique Triangles
Given | Required asin B " ’ asin O
s B,alb ¢ @ bﬁmj.b=180-~(A+B),c= ey
x bgin A o asin O
B 5 0| sia 8= —"—,0 = 180°—(4 + B),c = ~T
.5 €14, B35 A+B=180°—0, tan ;(A--B)z((i:f)—:f'—’_f (b‘ﬁi'—lf),
@ sin O
sin A4

b+o - B)s—¢
4:“————+2+,°,sin§A=VI(-8— !::—_—)

SuiB= \ei()zs??)c_ 0=180"—(A+B)

; :ﬂm !=a+‘:+c‘ area = \/3(8—a) (8—0) (8-—0)
Area

beosin 4

diea =

a? sin B sin C
28 A

REDUCTION TO HORIZONTAL

Horizontal distance = Slope distance multiplied by the

cosine of the vemcai angle. Thus: slope distance =319.4
Vert. angle =5° 10. From Table, Page IX. cos §°10'=

.9959. Horizontal distance =2319.4X.9959=318.09 fL.
Horizental distance also = Slope distance minus sloge
¥ distance times (1—cosine of vertical angle). With t
3 o bl same hg‘\txres :s lneglecprecegml%lexamplle the follow-
Horiz stance ing result is obtain osine =,9958. 1—.9959=.0041.
paiu 319,4,0041=1.31. 319.4- 1.91=318.09 ¢

When the rise js known, the horizonial distance is approximateiy:—the slope dist-
. e less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

pe distance=302.6 ft. Horizontal distance=302.6— 4X 14 _3026-0.32- 302.28 ft.
{ 2 X 302.6

area =

s
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